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Topic: Legendre Generating Function



Properties of Legendre Generating Function

• (1) (1 − 2𝑥𝑡 + 𝑡2)−1/2→ 1, 𝑖𝑓 𝑡 → 0.

• (2) 𝑃𝑛 𝑥 = 1.

• Sol:

• (1 − 2𝑥𝑡 + 𝑡2)−1/2 =  𝑛=0
∞ 𝑃𝑛 𝑥 𝑡

𝑛

• If x =1

• (1 − 2𝑡 + 𝑡2)−1/2 =   𝑛=0
∞ 𝑃𝑛 1 𝑡

𝑛

• (1 − 𝑡)2 −1/2 =  𝑛=0
∞ 𝑃𝑛 1 𝑡

𝑛



1 − 𝑡 −1 =  𝑛=0
∞ 𝑃𝑛 1 𝑡

𝑛

 

𝑛=0

∞
(1)𝑛𝑡

𝑛

𝑛!
=  

𝑛=0

∞

𝑃𝑛 1 𝑡
𝑛

𝑃𝑛 1 = 1

(3) If we replace x by –x and t by –t in eq (i)

(1 − 2𝑥𝑡 + 𝑡2)−
1
2=  

𝑛=0

∞

𝑃𝑛 −𝑥 (−𝑡)
𝑛

Eq (1) becomes 

 

𝑛=0

∞

𝑃𝑛 𝑥 𝑡
𝑛 =  

𝑛=0

∞

(−1)𝑛 𝑃𝑛 −𝑥 𝑡
𝑛



comparing

𝑝𝑛 𝑥 = −1
𝑛𝑝𝑛(−𝑥)

(4) Since

(1 − 2𝑥𝑡 + 𝑡2)−1/2 =  𝑛=0
∞ 𝑃𝑛 𝑥 𝑡

𝑛

at x =0

 𝑛=0
∞ 𝑃𝑛 𝑥 𝑡

𝑛= (1 + 𝑡2)−1/2

 𝑛=0
∞ 𝑃𝑛 0 𝑡

𝑛= 𝑛=0
∞ (−1)𝑛(1\2)𝑛𝑡

2𝑛

𝑛!

 

𝑛=0

∞

𝑃2𝑛 0 𝑡
𝑛2 =  

𝑛=0

∞
(−1)𝑛(1\2)𝑛𝑡

2𝑛

𝑛!

𝑃2𝑛 0 = 
(−1)𝑛(1\2)𝑛

𝑛!


